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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
Winter Examination-2019 

 

Subject Name : Digital Electronics 
Subject Code : 2TE03DEL1    Branch: Diploma (CE)     

Semester: 3         Date :15/11/2019   Time : 02:30 To 05:30   Marks : 70 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: 

 
(14)  

 a)  The binary addition 1 + 0 + 1  gives 

(a) 1   (b) 10   (c) 0   (d) 11 
 

 b)  Radix of hexadecimal number system is  

(a) 16 (b) 10 (c) 4 (d) 2 
 

 c)  2
nd

 complement of 1100 is  

(a) 0100  (b) 0000  (c)1100  (d)1011 
 

 d)  The number of control lines for a 32 – to – 1 multiplexer is 

(a) 2 (b) 3 (c) 4 (d) 5 
 

 e)  The sum of 11101+10111 equals___? 

(a)110011   (b)100001  (c)110100  d)100100 
 

 f)  How many Flip-Flops are required for mod–16 counter? 

(a) 5 (b) 6 (c) 3 (d) 4 
 

 g)  The AND gate output will be High if the two inputs are 

(a) 00 (b) 01 (c) 10 (d) 11 
 

 h)  Which is typically shortest? 

(a) bit (b) byte (c) word (d) nibble 
 

 i)  Which of the following is minimum error code? 

(a) octal code (b) grey code (c) binary code (d) xs-3 code 
 

 j)  Which gate is known as a “all or nothing gate”? 

(a) AND (b) OR (c) NOR  (d) NAND 
 

 k)  J-K Flip Flop Derive from ______? 

(a) T Flip Flop  (b) R-S Flip Flop (c) D Flip Flop  (d) None 
 

 l)  1
st
 complement of 1010 is  

a)0011 b) 0101  c)1100  d)1111 
 

 m)  MASTER SLAVE contain _____________ flip flop. 

(a) 2 (b) 3 (c) 4 (d) 5 
 

 n)  Extended ASCII SUPPORT 

(a) Decimal (b) Hexadecimal (c) Octal (d)  Binary 
 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 (a) What is a logic gate? Which gate is known as a Universal Gate? Why? (7) 

 (b) Explain Different types of code used in Digital System.   (7) 
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Q-3  Attempt all questions (14) 

 (a) Write a Short note on 4X2 Encoder Circuit. (7) 

 (b) What is Karnaugh map? Draw three variable structure of K-MAP and find out  

∑(4,5,6,7) 
(7) 

    

Q-4  Attempt all questions (14) 

 (a) Write a Short note on 8X1 Multiplexer (7) 

 (b) Prove De-Morgan’s Law using truth table. (7) 

    

Q-5  Attempt all questions (14) 

 (a) What is gray code? Explain binary to gray and gray to binary conversion with 

example. 
(7) 

 (b) Simplify ∑(0,1,2,3,4,5,6,7) (7) 

    

Q-6  Attempt all questions (14) 

 (a) What is Flip Flop? Explain J-K flip flop.  (7) 

 (b) Differentiate half adder and half Subtractor.  (7) 

Q-7  Attempt all questions (14) 

 (a) Differentiate Encoder and Decoder Circuit. (7) 

 (b) Draw block diagram of digital to analog converter. (7) 

    

Q-8  Attempt all questions (14) 

 (a) What is Shift Register? Explain 6-bit shift register. (7) 

 (b) Explain Different types of ROM. (7) 

    
 

 

Q-1  Attempt the following questions: 

 
(14)  

 a)  ફાઇનરી ઉમરેો 1 + 0 + 1 

(ઍ) 1 (ફી) 10 (સી) 0 (ડી) 11 
1 

 b)  હકે્સાડેસસમ઱ નફંર સસસ્ટમન  ંમલૂભતૂ છે 

(ઍ) 16 (ફી) 10 (સી) 4 (ડી) 2 
1 

 c)  1100 ન  ં2 જી પરૂક છે 

(ઍ) 0100   (ફી) 0000   (સી) 1100 (ડી) 1011 
1 

 d)  32 - થી - 1 મલ્ટીપ્઱કે્સર માટેની સનયતં્રણ રેખાઓની સખં્યા છે 

(એ) 2 (ફી) 3 (સી) 4 (ડી) 5 
1 

 e)  11101 + 10111 નો સરળાલો _____? 

(એ) 110011 (ફી) 100001 (સી) 110100 (ડી) 100100 
1 

 f)  મોડ – 16 કાઉન્ટર માટે કેટ઱ા ફ્લ઱઩-લ઱ોપ્સ આળશ્યક છે? 

(એ) 5 (ફી) 6 (સી) 3 (ડી) 
1 

 g)  જો ફ ેઇનપ ટ્સ હોય તો ઍન્ડ ગેટન  ંઆઉટપ ટ ઉચ્ચ રહ઴ે ે

(એ) 00 (ફી) 01 (સી) 10 (ડી) 11 
1 

 h)  જે સામાન્ય રીતે ટૂંકી હોય છે? 1 
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(એ) ફીટ (ફી) ફાઇટ (સી) ળડડ (ડી) સનબ્બબ્બ઱ 

 i)  પો઱ોસળિંગમાથંી કયા ન્યનૂતમ ભ઱ૂ  છે? 

(એ) ઑક્ટ઱ કોડ (ફી) ગે્ર કોડ (સી) ફાઇનરી કોડ (ડી) ઍક્સસે - 3 કોડ 
1 

 j)  કઇ ગેટન ે"ઓ઱ અથળા કંઇ ગેટ" તરીકે ઓલખળામા ંઆળ ેછે? 

(એ) અન ે(ફી) અથળા (સી) નૉર (ડી) નેંડ 
1 

 k)  _____ માથંી J-K ફ્લ઱઩ લ઱ો઩ મલેળાય છે? 

(એ) ટી ફ્લ઱઩ લ઱ો઩ (ફી) આર-એસ ફ્લ઱઩ લ઱ો઩ (સી) ડી ફ્લ઱઩ લ઱ો઩ (ડી) કંઈ નહીં 
1 

 l)  1010 ન  ં઩હલે  ંપરૂક છે 

(એ) 0011 (ફી) 0101 (સી) 1100 (ડી) 1111 
1 

 m)  માસ્ટર સ્઱ળેમા ં_____________ ફ્લ઱઩ લ઱ો઩ હોય છે. 
(એ) 2 (ફી) 3 (સી) 4 (ડી) 5 

1 

 n)  સળસ્તતૃ ASCII સ઩ોટડ  
(એ) દ઴ા઴ં (ફી) હકે્સાડેસસમ઱ (સી) ઓક્ટ઱ (ડી) ફાઇનરી 

1 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 (a) ઱ોજજક ગેટ એટ઱ ેશ ?ં કયા ગેટ ય સનળસડ઱ ગેટ તરીકે ઓલખળામા ંઆળ ેછે? કેમ? (7) 

 (b) ડડજજટ઱ સસસ્ટમમા ંઉ઩યોગ થતા સળસળધ પ્રકારના કોડ સમજાળો. (7) 

    

 

 

Q-3  Attempt all questions (14) 

 (a) 4X2 એન્કોડર સડકિટ ઩ર ટૂંકી નોંધ ઱ખો (7) 

 (b) કરનોહ નક઴ો શ  ંછે? કે-મ઩ૅ મા ત્રણ ળડેરયફે઱ સ્રક્ચર દોરો અને ∑ (4,5,6,7) ઴ોધો (7) 

    

Q-4  Attempt all questions (14) 

 (a) 8X1 મલ્લ્ટપ્઱કે્સર ઩ર ટૂંકી નોંધ ઱ખો (7) 

 (b) ડી મોગડન ન ેટ્રુથ ટેફ઱ સાથે સાબફત કરો (7) 

    

Q-5  Attempt all questions (14) 

 (a) ગે્ર કોડ શ  ંછે? ઉદાહરણ તરીકે ફાઇનરી  થી ગે્ર અન ેગે્ર થી ફાઇનરી  રૂ઩ાતંરને સમજાળો. (7) 

 (b) ∑(0,1,2,3,4,5,6,7) ને સરલ ફનાળો (7) 

    

Q-6  Attempt all questions (14) 

 (a) ફ્લ઱઩ લ઱ો઩ શ  ંછે? જે-કે ફ્લ઱઩ લ઱ો઩ સમજાળો. (7) 

 (b) હાપ ઍડર અન ેફુ઱ ઍડર નો ડડપરેન્સ સમજાળો. (7) 

 

 

Q-7  Attempt all questions (14) 

 (a) ઍનકોડર અન ેડડકોડર નો ડડપરેન્સ સમજાળો. (7) 

 (b) એના઱ોગ થી ડડજજટ઱ કન્ળટડર નો બ્બ઱ોક ડાયાગ્રામ દોરો. (7) 

    

Q-8  Attempt all questions (14) 

 (a) ઴ીલટ રજજસ્ટર શ  ંછે? 6-ફીટ સ઴લટ રજજસ્ટર સમજાળો. (7) 

 (b) સળસળધ પ્રકારના ંરોમ સમજાળો (7) 

    

 


